Question Answer Mark | Mark scheme Additional guidance
19 1610 Bl for 5.875 x 108 or 5.885 x 108 or 3.55 x 10°0r 3.65 x 10° Accept 5.8849 for 5.885
or the digits 5875 or 5885 or 355 or 365 Accept 3.649 for 3.65
M1 for method to find lower bound, — eg (5.875 x 108) = (3.65 x 10°) oe 5.875 x 10° < [LB] < 5.88 x 10°
[UB] 3.6 x 10° < [UB] < 3.65 x 10°
Al for answer in range 1609 — 1610 from correct working If an answer is shown in the range in

working and then incorrectly
rounded award full marks






